
Área y Circunferencia de Ćırculos (H)

Calcule el área y la circunferencia de cada ćırculo.

r=5.4 cm

circunferencia =

área =

r=6.0 mm

circunferencia =

área =

r=5.9 in

circunferencia =

área =

r=3.1 in

circunferencia =

área =
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Área y Circunferencia de Ćırculos (H) Respuestas

Calcule el área y la circunferencia de cada ćırculo.

r=5.4 cm

circunferencia = 33.929 cm

área = 91.609 cm2

r=6.0 mm

circunferencia = 37.699 mm

área = 113.097 mm2

r=5.9 in

circunferencia = 37.071 in

área = 109.359 in2

r=3.1 in

circunferencia = 19.478 in

área = 30.191 in2
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